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3. 'U1, U2
i.i.d.U(0, 1)5µ�r.v.’s��X1 = U1, X2 = U1U2��O

(i) X1, X2�Ð)p.d.f.f(x1, x2);

(ii) ��X2 = x2, X1�f�p.d.f.f(x1|x2);

(iii) E(X1|X2 = x2)�

4. 'X�Y}ñ, /bE(λ)5µ��Z = X(1 + Y )��O

(i) E(Z|Y = y);

(ii) E(E(Z|Y ));

(iii) Var(E(Z|Y ));

(iv) Var(Z|X = x);

(v) E(Var(Z|X))�

5. 'Xnb χ2
n5µ, � Yn = (Xn − n)/

√
2n, v| Fn� Yn� d.f., n ≥ 1�

(i) �OYn� ch.f.�
(ii) �® n →∞`, Fnº3[e�¢ d.f.F?

6. ¹�7V×Fó1�¨^£
p�{�, à�=�Ëg�¨1��c��
T�Xm�7Vó�

(i) �Og(s) = E(sT ), |s| ≤ 1�
(ii) �¿à(i)OE(T ); ©½2, 	p = 1/6, ��E(T )�

7. A�ßN^�=�� à�, �n¾Ý` 312`�12`155 í85µ���
¶ï¼añ�F�Ý` b¼ó5µ, �TÂ
55Ö��O

(i) ��A�ßF�Ý` 
12`155, A�ßn¾� Ý` 312`55�G
Ý^£;

(ii) ��A�ßF�Ý` 312`155�G, A�ßn¾� Ý` 312`55

�GÝ^£�


